
Manual Revision: 02/27/2014

For the most up-to-date information, please visit: www.startech.com

DE: Bedienungsanleitung - de.startech.com
FR: Guide de l'utilisateur - fr.startech.com
ES: Guía del usuario - es.startech.com
IT: Guida per l'uso - it.startech.com
NL: Gebruiksaanwijzing - nl.startech.com
PT: Guia do usuário - pt.startech.com

RKWOODCAB12

12U Office Mini Server Cabinet with Wood 
Finish and Casters

*actual product may vary from photos



Instruction Manual

FCC Compliance Statement
This equipment has been tested and found to comply with the limits for a Class B digital 
device, pursuant to part 15 of the FCC Rules. These limits are designed to provide reasonable 
protection against harmful interference in a residential installation. This equipment generates, 
uses and can radiate radio frequency energy and, if not installed and used in accordance with 
the instructions, may cause harmful interference to radio communications. However, there 
is no guarantee that interference will not occur in a particular installation. If this equipment 
does cause harmful interference to radio or television reception, which can be determined by 
turning the equipment off and on, the user is encouraged to try to correct the interference by 
one or more of the following measures:

•	 Reorient or relocate the receiving antenna.

•	 Increase the separation between the equipment and receiver.

•	 Connect the equipment into an outlet on a circuit different from that to which the receiver 
is connected.

•	 Consult the dealer or an experienced radio/TV technician for help.

Use of Trademarks, Registered Trademarks, and other Protected Names and Symbols
This manual may make reference to trademarks, registered trademarks, and other 
protected names and/or symbols of third-party companies not related in any way to  
StarTech.com.  Where they occur these references are for illustrative purposes only and do not 
represent an endorsement of a product or service by StarTech.com, or an endorsement of the 
product(s) to which this manual applies by the third-party company in question.  Regardless 
of any direct acknowledgement elsewhere in the body of this document, StarTech.com hereby 
acknowledges that all trademarks, registered trademarks, service marks, and other protected 
names and/or symbols contained in this manual and related documents are the property of 
their respective holders.



Instruction Manual
1

Table of Contents
Introduction.............................................................................................2

Packaging Contents.................................................................................................................................. 2

Installation...............................................................................................3

Specifications...........................................................................................10

Technical Support...................................................................................11

Warranty Information.............................................................................11



Instruction Manual
2

Introduction

Packaging Contents

A (1)
Left Side Panel

B (1)
Right Side Panel

C (1)
Rack Top

D (1)
Rack Bottom

E (4)
Rack Rail

F (2)
Front/Rear Support

G (1)
Ventilation Panel

H (1)
Cable Entry Panel

J (32)
M6x12

K (8)
M5x12

L (30/30)
Cage Nut and Screw

M (2)
M4x12

N (4)
M6x15

P (12)
Cam

Q (12)
Connecting Bolt

R (16)
Dowel Pins

S (1)
Strike Plate

X (1)
Front Door

T (2)
Latch (with Lock)

w/ 2 keys

U (1)
Round Grommet

V (4)
Caster

W (4)
Panel Bracket

Y (1)
Rear Panel



Instruction Manual
3

Installation
Tools Required: 

1.	 Use 16-M6x12 (J) Hex Washer Screws to secure the 4 Rack Rails (E) & 4 Panel Brackets 
(W) to the Side Panels (A and B).

2.	 Screw 6 Connecting Bolts (Q) into each Side Panel (A and B). Then Screw 2 M6x15 
Adjustable Studs (N) into each Side Panel (A and B).



Instruction Manual
4

3.	 Install 6 Cams (P) into the holes on the Rack Top (C) and Rack Bottom (D) panels. 
Then press 4 Dowel Pins (R) each (12 total) into the holes on the Front/Rear Support 
(F), Rack Top (C) and Rack Bottom (D) panels.



Instruction Manual
5

4.	 Drop Rack Top (C), Rack Bottom (D) and Rront/Rear Support (F) panels onto the Side 
Panel with Cams (P) engaging with connecting bolts (Q). Turn all Cams clockwise to 
secure Side Panels (A and B).



Instruction Manual
6

5.	 (Optional) Use 16-M6x12 Hex Washer Screws (J) to secure 4 Casters (V) to the Rack 
Bottom.



Instruction Manual
7

6.	 Use 8-M5x12 Truss Screws (K) to secure the Ventilation Panel (G) and the Cable Entry 
Panel (H) to the two Side Panels.

7.	 Install the Latch (T) into the holes on the Rear Panel (Y).

8.	 Slide the base of the Rear Panel (Y) onto the Cable Entry Panel, the push the top in 
to close. Install the Round Grommet (U) into hole in the Rack Top.



Instruction Manual
8

9.	 Install the Latch (T) into the hole on the Front Door (X).

NOTE: The Front Door can be installed to open in either direction based on your 
preference.



Instruction Manual
9

10.Use 2-M4x12 Wood Screws (M) to attach the Strike Plate (S) to the far Side Panel 
from where the door will hinge. Pull the spring down as you slide the Front Door (X) 
into place and hold until it falls into the proper slot.



Instruction Manual
10

Specifications
Rack Type 4-Post

U Height 12U

Frame Type Enclosed Cabinet

Mounting Options Front Mount (Front and Rear)

Front Door Type Wood with Glass Window

Side Panel Type Wood

Back Door Type Wood

Key Lock Yes

Casters Included

Weight Capacity 300 lbs (135.7 kg)

External Dimensions (WxHxD) 22.05 x 26.14 x 25.98in (560 x 26.14 x 660mm)

Min Mounting Depth 16.7in (423mm)

Max Mounting Depth 20.6in (523mm)



Instruction Manual
11

Technical Support
StarTech.com’s lifetime technical support is an integral part of our commitment to 
provide industry-leading solutions.  If you ever need help with your product, visit 
www.startech.com/support and access our comprehensive selection of online tools, 
documentation, and downloads.
For the latest drivers/software, please visit www.startech.com/downloads

Warranty Information
This product is backed by a two year warranty. 
In addition, StarTech.com warrants its products against defects in materials 
and workmanship for the periods noted, following the initial date of purchase. 
During this period, the products may be returned for repair, or replacement with 
equivalent products at our discretion. The warranty covers parts and labor costs only.  
StarTech.com does not warrant its products from defects or damages arising from 
misuse, abuse, alteration, or normal wear and tear.

Limitation of Liability
In no event shall the liability of StarTech.com Ltd. and StarTech.com USA LLP (or their 
officers, directors, employees or agents) for any damages (whether direct or indirect, 
special, punitive, incidental, consequential, or otherwise), loss of profits, loss of business, 
or any pecuniary loss, arising out of or related to the use of the product exceed the 
actual price paid for the product.  Some states do not allow the exclusion or limitation 
of incidental or consequential damages. If such laws apply, the limitations or exclusions 
contained in this statement may not apply to you.



Hard-to-find made easy. At StarTech.com, that isn’t a slogan. It’s a promise.

StarTech.com is your one-stop source for every connectivity part you need. From 
the latest technology to legacy products — and all the parts that bridge the old and 
new — we can help you find the parts that connect your solutions.

We make it easy to locate the parts, and we quickly deliver them wherever they need 
to go. Just talk to one of our tech advisors or visit our website. You’ll be connected to 
the products you need in no time.

Visit www.startech.com for complete information on all StarTech.com products and 
to access exclusive resources and time-saving tools.

StarTech.com is an ISO 9001 Registered manufacturer of connectivity and technology 
parts. StarTech.com was founded in 1985 and has operations in the United States, 
Canada, the United Kingdom and Taiwan servicing a worldwide market.


	Introduction
	Packaging Contents

	Installation
	Specifications
	Technical Support
	Warranty Information

